/

ST +1,345
Brh +0,73

OK FFB/RB
+18,91

=

ST +2,955
Brh +1.2Q.
ST +2,955
Brh +1,29

@) :

Y

10 Stg. |
10-Stg.
17,8/291

/@J [asassassassassasasasssand

|
Y A A A A A A A S R A N sy sy /| N 1__
// Y A S A I N S N S I A A S A N A S S N N I Y S N Sy S NS ar ey s as ~

7,
/

AN
/
/

ST +2,955
Brh+129
k
ST +2,955
Brh +1,29

10 STG
17128

ST +1,22
Brh +0,755
T
I

OK FFB “
+20.725

|<; 10 §TG

17 1128

SONNURUOIIOUNNAN

SRRARRARNRS

NONUOMNONNNNNN N
\NNNN

XXX XX XXX XX XX XXX L XX XK

N
i

,,,,,,,, L
/éj 77777777 L,F///////////////////////

7%
[

OK FFB
+20.700

- .

@ @

Aufzug 1000kg Nutzlast

MR NRN RN RNRRNY

OK FFB
+20.725

N

oo

/////////A////P//

=

o T T TS\
SOOI

W

Schacht Schacht

Bestand Aufzug Bestand
Bestand

N

SRR A N RN AN RN R RN NN RN O NN R N A N RN AR RN R NANARARRARNANRNNSN

N A A R AR R R NN

N

%

NN N N A NN A N A A N N A N NN NN O OO NN

\\\\\\\\\\\\yii\\\\\\\\\\\\\
AN
XA
£

P

9% I
‘A‘A‘A ] Y ————— = ——2l L _-— ¢ - L T T T T T T T £ —--— e e -—— T+ L
“‘ Brh +0.98 A ST +2.955 Brh +0.98 ST +2.955 Brh +0.98 Brh +0.98 ST +2.955 Brh +0.98 ST +2.955

|

N i B == —— : ? 1T TL L | ¢ : = i Tl L

ST +2.955 ST +2.955 Brh +0.98 ST +2.955

Brh +0.98 'T ?‘ ST +2.955 Brh +0.98 T‘ ﬁ ST +2.955 Brh +0.98 ﬁ F‘ ST +2.955 o909

[ & :

N
==
-
|
L
(il !
u
|
=
Hil !
B
|

Brh +0.98

&
©,
o
0

Brh +0.98

zﬁ
4
ol
E
w
©
Ll
[
E
|
|
[
I
I
9
&
Gl
[
|
I
I
I
I
I
|
I
I
|
E
I
|
I
|
"
=
1]
|
|
I
I
I
I
|
|
I
I
E
|
Il
I
I
I
9
o |
@ |
Q1
g]l
50
2
@ |
7
E
I
|
I
I
T
1]
|
E
g |
I
I
I
|
|
I
§
|
I

Elc”o 5006000

Brh +0.98

OK Sockelkanal +0.21 ab RB

o
X x %< X X X X X X X X X XX X X X X X

; <) i
ufzug ‘ 7 @
Bestand ‘
‘ fr
|
|

XKD
@
g

<X
!
!

Schacht TS eTeTeSwewwwws ) @\ @

XX
C
4

Jl

X
Il

3
000000 00 00000 0 0 0 00 0 0 0 0 00 0 0 0 0 0 0 00 0 0 0.0 0 00 061
L”i
=

0
(]

C0.C
5

OK RB
+20.700

If
Schacht \ﬁk I

Schacht |
Bestand

00000 uoqccooo 00 i
9olooooo9agoolld |

GK-Vorsatzschale il |

T90RD

0o

A

UK RD
+23.975

-

010000000000
0202020202026202620%c

ooo°o°o°o°o°o°cOOOQ°o°o°oacaoocoooooooocoao‘[ [ T

AN A
KFD UK RD
+23,94 +23,92

BEX XX XXX

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

© |
,,,,,,,,,,,,,, e P == == |
1,16° 1,16° 1,16° 1,16° 1,16° J !
A 2,60 2,60 2,60 2,60 260 L ;S I
92"0 ':7':22 | OK RB OK FFB o So05ERAE AL l
| +20.700 +20.725 |
| |
| |
| f
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |

iRrResRR e oo A O B v | E—— I L rovive | G e = 1 I = I 1 I ( X R 99 VIIIINIINIIIIOIIIIIINIIIIIIIIIIIIIIIIIIIII IS

R D D D D O D D R D R D D O O

1,165 1,165 1,01 !
260 260 t 2155

500,
2050,

RIS IR IR AKX

XX

oo st oouunn SACAAS) SASACAS; SASACAS; SACASAS) SACASAS; <

XX
b0 0.0 0.0.0.0.0.00](0.0.0-0-0-0.0.0.0.0-0-0.0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0.0-0- 0006,

b
e
Ecﬁo
-
-
b
b
b
b
-
-
b
b
b
bd
(18]
i
-
b
-
b
b
b
-
-
sl
b

L

OK FFB OK RB OK FFB
+20,725 +20,70 +20.725

N N

Je

UK FD UK RD
+23.925 +23.945

1
|awi

0

| PAVAV”

XXX

ST +2.74

X

XX

XX

XD
=
@
Q

Brh +1.07

0000000 000000 000
120202020262026202020262026202%0

o
o

o)
o (@)

L8 =
S S sSf s Sff s Sf s Sf s Sf s Sf s Sf s S s Sf s Sf s SsS
//////////////(/////

Ly ]
-

Aufzug
] | ————— Bestand

Schacht

ST +2.74

[N

OK FFB OK RB
+20.725 +20.700

OK FFB OKRB 0 LW e J
+20.725 +20.700 s I

X X XX X X XXX XX XXX XXX XXX IEXXXX

I 20.725m

NS

Lol ’J7
i i ERODYEr(o)
Stg. ‘ i i /A

w !l .

N

UK'Uz
+23.455

[

X o,
RO » 3
R0 0K ONBR ORI BRI

Brh +1.07

o
SN
o

LB s ]
......... % S

e
'~ 1 OKFFB

Schacht

EXXXXXXXXXXXXXXXXXXXXEXXX XX X X XX XXX XXXXXXXXXXXXXXXXXXXXXEXXLXXXXXXXXXXIXXXXXXXXXXXXEXXXXXXXXEXXXXXXXXXXXXXXXXXXXXXXXXXXXXX EX X XX X X X XX X] VNNV

=

<] Schacht
“ Bestand

<]

o TO9ORD |
<

5]

[ty g gy i [Pty Sy g gty g

AAAAAAAAAAAAAAAAAAAAAAAANATS
VVVVVVVVVVVVVVVVVVVVVVVVVVYV

T e e e
R D D R D D D D D D O D D R D D O 0

Y

e o S e . -
Brh +0.98 ’j g_ ST +2.955 Brh +0.98 A_ i‘ ST +2.955 Brh +0.98 AJ }L ST +2.955 Bih +0.98 JJ_ L ST +2.955 Brh +0.98 Jj }L ST +2.955 Brh +0.98 lj— L ST +2.955 Brh +0.98 JJ h ST +2.955 Brh +0.98 ’j g_ Brh +0.98 ST +2.955 Brh +0.98 ST +2.955 Brh +0.98 I ST+2.955 Brh +0.98 ST +2.955 Brh +0.98 ST +2.955 Brh +0.98 ST+2.955 Brh +0.98 ST +2.955 Brh +0.98 T +2.955 Brh +0.98 ST +2.955 Brh +0.98 ST +2.955 Brh +0.98 ST +2.955 ST +2.955 Brh +0.98 ST +2.955
T s s v [ I A S = e e g == R e e s v 1Y R A e § = B e ——— e v B S A S S B B e e e ——— =  — e g —— e B B e  ——— s w1 R A S B e e —————— AR 0 R 090 = rf %%%%%%%%%%%  —— ) S S e T — e m———— ey 1 S A B T R e ey ———— T = e e e v B S A o S B e g [ ——— B B e ———F — — S ———— B e e e v B I — e —— — e e B I A L m _TA %%%%%%%% ;e T T e e LSS B R amama T e s e B S N By T £ T T ~ T T e s et 1 I A S e —— —  — [ S A L B

)

-—=m L.

YA



